



***p*-VALENT MEROMORPHIC FUNCTIONS INVOLVING HYPERGEOMETRIC
AND KOEBE FUNCTIONS BY USING DIFFERENTIAL OPERATOR**

S. NAJAFZADEH, S. R. KULKARNI, AND G. MURUGUSUNDARAMOORTHY

Received 16 August, 2005; accepted 9 December, 2005; published 7 August, 2006.

Communicated by: M. Darus

DEPARTMENT OF MATHEMATICS, FERGUSSON COLLEGE, PUNE UNIVERSITY, PUNE - 411004, INDIA.

Najafzadeh1234@yahoo.ie

kulkarni_ferg@yahoo.com

SCHOOL OF SCIENCE AND HUMANITIES, VELLORE INSTITUTE OF TECHNOLOGY, DEEMED UNIVERSITY,
VELLORE - 632014, INDIA.

gmsmoorthy@yahoo.com

ABSTRACT. New classes of multivalent meromorphic functions involving hypergeometric and Koebe functions are introduced, we find some properties of these classes e.g. distortion bounds, radii of starlikeness and convexity, extreme points, Hadamard product and verify effect of some integral operator on members of these classes.

Key words and phrases: *p*-valent, meromorphic, hypergeometric and Koebe functions, distortion bound, radii of starlikeness and convexity, extreme points, convolution and integral operator.

2000 Mathematics Subject Classification. Primary 30C45, Secondary 30C50.

ISSN (electronic): 1449-5910

© 2006 Austral Internet Publishing. All rights reserved.

We would like to thank Professor Maslina Darus, School of Mathematical Sciences, Faculty of Science and Technology, Universiti Kebangsaan Malaysia, Malaysia for her insightful suggestions to revise this paper.

1. INTRODUCTION

Let $\mathcal{KH}(p)$ denote the class of functions of the form

$$(1.1) \quad f(z) = Az^{-p} + k(z) + {}_2F_1(a, b; c; z) - \sum_{k=p+1}^{2p} t_{k-p-1} z^{k-p-1}$$

where $A > 0, p \in \mathbb{N}, k(z) = \frac{z}{(1-z)^2}$ is the Koebe function and

$$(1.2) \quad {}_2F_1(a, b; c; z) = \sum_{n=0}^{\infty} \frac{(a)_n (b)_n}{(c)_n n!} z^n \left((a)_n = \frac{\Gamma(a+n)}{\Gamma(a)}, c > b > 0, c > a + b \right)$$

is the Gaussian hypergeometric function and

$$(1.3) \quad t_q = \left(q + \frac{(a)_q (b)_q}{(c)_q q!} \right)$$

all the members of this class are analytic in the punctured disk $\mathcal{D}^* = \{z : 0 < |z| < 1\}$.

Definition 1.1. A function $f(z)$ belonging to $\mathcal{KH}(p)$ is said to be in the class $\mathcal{KH}^*(p, q, \lambda, \alpha, \beta)$ if it satisfies the condition

$$(1.4) \quad \left| \frac{z^{p+q+1} f^{(q+1)}(z) + Ab}{\lambda z^{p+q+1} f^{(q+1)}(z) - Ab + (1 + \lambda)\alpha Ab} \right| < \beta$$

for some $0 < \alpha \leq 1, 0 \leq \lambda \leq 1$ and ($q = 0$ or $q = 2t$), $b = \frac{(p+q)!}{(p-1)!}$. For each $f(z) \in \mathcal{KH}(p)$ (here and through this paper) by direct calculation we have

$$(1.5) \quad f(z) = Az^{-p} + \sum_{n=p}^{\infty} t_n z^n$$

where t_n defined by (1.3) and

$$(1.6) \quad f^{(j)}(z) = (-1)^j A \frac{(p+j-1)!}{(p-1)! z^{p+j}} + \sum_{n=p}^{\infty} \frac{n!}{(n-j)!} t_n z^{n-j}.$$

A function $f(z) \in \mathcal{KH}(p)$ is said to be meromorphically multivalent starlike if

$$\operatorname{Re} \left\{ -\frac{z f'}{f(z)} \right\} > 0$$

and meromorphically multivalent convex if

$$\operatorname{Re} \left\{ -\left(1 + \frac{z f''}{f'} \right) \right\} > 0.$$

Motivated by the recent work of H. Irmak and S. Owa [1], S. Shams and S. R. Kulkarni [3] in the present paper we discuss some interesting properties of the class $\mathcal{KH}^*(p, q, \lambda, \alpha, \beta)$ such as radii of starlikeness and convexity, distortion theorem, extreme points, convolution, integral operator and etc.

2. MAIN RESULTS

For our main results we need the following lemma that has been proved in [2].

Lemma 2.1. *Let $f(z) \in \mathcal{KH}(p)$, then $f(z) \in \mathcal{KH}^*(p, q, \lambda, \alpha, \beta)$ if and only if*

$$(2.1) \quad \sum_{n=p}^{\infty} \frac{n!}{(n-q-1)!} (1 + \lambda\beta)t_n \leq \beta(\lambda + 1)Ab(1 - \alpha).$$

Now we find distortion bounds for $f^{(q+1)}(z)$ when $f(z) \in \mathcal{KH}^*(p, q, \lambda, \alpha, \beta)$.

Theorem 2.2. *Let $f(z) \in \mathcal{KH}^*(p, q, \lambda, \alpha, \beta)$ then for $|z| = r$*

$$(2.2) \quad \begin{aligned} & \frac{A(p+q)!}{(p-1)!} \frac{1}{r^{p+q+1}} - r^{p-q-1} \frac{\beta(\lambda + 1)Ab(1 - \alpha)}{1 + \lambda\beta} \leq |f^{(q+1)}(z)| \\ & \leq \frac{A(p+q)!}{(p-1)!} \frac{1}{r^{p+q+1}} + r^{p-q-1} \frac{\beta(\lambda_1)Ab(1 - \alpha)}{1 + \lambda\beta} \end{aligned}$$

Proof. Let $f(z) \in \mathcal{KH}^*(p, q, \lambda, \alpha, \beta)$. In view of above lemma we have

$$(2.3) \quad \sum_{n=p}^{\infty} t_n \leq \frac{\beta(\lambda + 1)Ab(1 - \alpha)(p - q - 1)!}{p!(1 + \lambda\beta)}$$

Thus

$$\begin{aligned} |f^{(q+1)}(z)| &= \left| (-1)^{q+1} A \frac{(p+q)!}{(p-1)!z^{p+q+1}} + \sum_{n=p}^{\infty} \frac{n!}{(n-q-1)!} t_n z^{n-q-1} \right| \\ &\leq \frac{A}{r^{p+q+1}} \frac{(p+q)!}{(p-1)!} + r^{p-q-1} \frac{p!}{(p-q-1)!} \sum_{n=p}^{\infty} t_n. \end{aligned}$$

Now, making use of (2.3) we obtain

$$|f^{(q+1)}(z)| \leq \frac{A(p+q)!}{(p-1)!} \frac{1}{r^{p+q+1}} + r^{p-q-1} \frac{\beta(\lambda + 1)Ab(1 - \alpha)}{(1 + \lambda\beta)}.$$

Also

$$|f^{(q+1)}(z)| \geq \frac{A(p+q)!}{(p-1)!} \frac{1}{r^{p+q+1}} - r^{p-q-1} \frac{\beta(\lambda + 1)Ab(1 - \alpha)}{(1 + \lambda\beta)}$$

which proves the assertion of Theorem 2.2. ■

3. RADII OF STARLIKENESS AND CONVEXITY

In this section we find radii of starlikeness and convexity for the class $\mathcal{KH}^*(p, q, \lambda, \alpha, \beta)$.

Theorem 3.1. *If $f(z) \in \mathcal{KH}^*(p, q, \lambda, \alpha, \beta)$ then $f(z)$ is meromorphically multivalent starlike of order ν ($0 \leq \nu < p$) in $|z| < r = r_1(p, q, \lambda, \alpha, \beta, \nu)$ where*

$$(3.1) \quad r_1(p, q, \lambda, \alpha, \beta) = \inf_n \left\{ \frac{n!(1 + \lambda\beta)(p - \nu)}{(\lambda + 1)b(1 - \alpha)(n - q - 1)!(n + 2p + \nu)} \right\}^{\frac{1}{n+p}}$$

Proof. Let $f(z) \in \mathcal{KH}^*(p, q, \lambda, \alpha, \beta)$. So by Lemma 2.1.

$$\sum_{n=p}^{\infty} \frac{n!}{(n-q-1)!} (1 + \lambda\beta)t_n \leq \beta(\lambda + 1)Ab(1 - \alpha)$$

Now it is enough to show that

$$\left| \frac{zf'}{f} + p \right| \leq p - \nu$$

But

$$\begin{aligned} \left| \frac{zf'}{f} + p \right| &= \left| \frac{-pAz^{-p} + \sum_{n=p}^{\infty} nt_n z^n}{Az^{-p} + \sum_{n=p}^{\infty} t_n z^n} + p \right| \\ &= \left| \frac{-pAz^{-p} + \sum_{n=p}^{\infty} nt_n z^n + pAz^{-p} + \sum_{n=p}^{\infty} pt_n z^n}{z^{-p} \left(A + \sum_{n=p}^{\infty} t_n z^{n+p} \right)} \right| \\ &\leq \frac{\sum_{n=p}^{\infty} (n+p)t_n |z|^{n+p}}{A - \sum_{n=p}^{\infty} t_n z^{n+p}} \leq p - \nu \end{aligned}$$

or

$$\sum_{n=p}^{\infty} (n+p)t_n |z|^{n+p} \leq A(p - \nu) - (p - \nu) \sum_{n=p}^{\infty} t_n z^{n+p}$$

or

$$\sum_{n=p}^{\infty} \frac{(n+2p+\nu)}{A(p-\nu)} t_n |z|^{n+p} \leq 1.$$

Now by using (2.1) we have

$$(3.2) \quad t_n \leq \frac{\beta(\lambda+1)Ab(1-\alpha)(n-q-1)!}{n!(1+\lambda\beta)}, n \geq p$$

Then

$$\begin{aligned} &\sum_{n=p}^{\infty} \frac{(n+2p+\nu)}{A(p-\nu)} t_n |z|^{n+p} \\ &\leq \sum_{n=p}^{\infty} \frac{\beta(\lambda+1)Ab(1-\alpha)(n-q-1)!}{n!(1+\lambda\beta)} |z|^{n+p} \left(\frac{n+2p+\nu}{A(p-\nu)} \right) \leq 1. \end{aligned}$$

So it is enough to suppose

$$|z|^{n+p} \leq \frac{n!(1+\lambda\beta)(p-\nu)}{(\lambda+1)b(1-\alpha)(n-q-1)!(n+2p+\nu)}$$

and so the proof is complete. ■

In view of Theorem 3.1 and since “ f is convex if and only if zf' is starlike” we have

Corollary 3.2. *Let $f(z) \in \mathcal{KH}^*(p, q, \lambda, \alpha, \beta)$ then $f(z)$ is meromorphically convex of order ν ($0 \leq \nu < p$) in $|z| < r = r_2(p, q, \lambda, \alpha, \beta, \nu)$ where*

$$(3.3) \quad r_2(p, q, \lambda, \alpha, \beta, \nu) = \inf_n \left\{ \frac{p(p-\nu)(1+\lambda\beta)(n-1)}{(n+2p-\nu)\beta(\lambda+1)b(1-\alpha)(n-q-1)!} \right\}^{\frac{1}{n+p}}$$

4. EXTREME POINTS

We discuss the extreme points of $\mathcal{KH}^*(p, q, \lambda, \alpha, \beta)$ in the next theorem.

Theorem 4.1. *Let $f_0(z) = az^{-p}$, $a > 1$ and*

$$(4.1) \quad f_n(z) = z^{-p} + \frac{\beta(\lambda + 1)Ab(1 - \alpha)(n - q - 1)!}{n!(1 + \lambda\beta)}z^n, \quad n \geq p$$

where $q \in \mathbb{N}$, $n \in \mathbb{N}_0$, $z \in \Delta^*$, then $f(z) \in \mathcal{KH}^*(p, q, \lambda, \alpha, \beta)$ if and only if it can be expressed by

$$f(z) = \sum_{n=0}^{\infty} \eta_n f_n(z)$$

where $\eta_n \geq 0$, $\eta_i = 0 (i = 1, 2, \dots, p - 1)$ and $\sum_{n=0}^{\infty} \eta_n = 1$.

Proof. Let $f(z) = \sum_{n=0}^{\infty} \eta_n f_n(z)$ so

$$\begin{aligned} f(z) &= \eta_0 z^{-p} + \sum_{n=1}^{\infty} \eta_n \left(z^{-p} + \frac{\beta(\lambda + 1)Ab(1 - \alpha)(n - q - 1)!}{n!(1 + \lambda\beta)}z^n \right) \\ &= Az^{-p} + \sum_{n=p}^{\infty} \eta_n \frac{\beta(\lambda + 1)Ab(1 - \alpha)(n - q - 1)!}{n!(1 + \lambda\beta)}z^n \end{aligned}$$

where

$$A = \eta_0 a + \sum_{n=1}^{\infty} \eta_n = \eta_0 a + 1 - \eta_0 = \eta_0(a - 1) + 1 > 0$$

Therefore $f(z) \in \mathcal{KH}^*(p, q, \lambda, \alpha, \beta)$ since

$$\begin{aligned} &\sum_{n=p}^{\infty} \frac{n!(1 + \lambda\beta)}{(n - q - 1)!\beta(\lambda + 1)Ab(1 - \alpha)} \times \frac{\beta(\lambda + 1)Ab(1 - \alpha)(n - q - 1)!}{n!(1 + \lambda\beta)} \eta_n \\ &= \sum_{n=p}^{\infty} \eta_n = \sum_{n=1}^{\infty} \eta_n = 1 - \eta_0 \leq 1. \end{aligned}$$

Conversely, suppose that $f(z) \in \mathcal{KH}^*(p, q, \lambda, \alpha, \beta)$. Then by (2.1) we have

$$0 \leq t_n \leq \frac{\beta(\lambda + 1)Ab(1 - \alpha)(n - q - 1)!}{n!(1 + \lambda\beta)}$$

Setting

$$(4.2) \quad \eta_n = \frac{n!(1 + \lambda\beta)}{\beta(\lambda + 1)Ab(1 - \alpha)(n - q - 1)!} t_n, \quad (n \geq p)$$

$\eta_i = 0 (i = 1, 2, \dots, p-1)$ and $\eta_0 = 1 - \sum_{n=1}^{\infty} \eta_n$. Then

$$\begin{aligned} f(z) &= Az^{-p} + \sum_{n=p}^{\infty} t_n z^n \\ &= Az^{-p} + \sum_{n=p}^{\infty} \frac{\beta(\lambda+1)Ab(1-\alpha)(n-q-1)!\eta_n}{n!(1+\lambda\beta)} z^n \\ &= Az^{-p} + \sum_{n=1}^{\infty} \eta_n (f_n(z) - z^{-p}) \\ &= \left(A - \sum_{n=1}^{\infty} \eta_n \right) z^{-p} + \sum_{n=1}^{\infty} \eta_n f_n \\ &= \eta_0 f_0(z) + \sum_{n=1}^{\infty} \eta_n f_n(z) = \sum_{n=0}^{\infty} \eta_n f_n(z). \end{aligned}$$

This gives the required result. ■

5. SOME PROPERTIES OF $\mathcal{KH}^*(p, q, \lambda, \alpha, \beta)$

Theorem 5.1. Let $f_j(z) (j = 1, 2, \dots, m)$ defined by

$$f_j(z) = A_j z^{-p} + \sum_{n=p}^{\infty} t_{n,j} z^n$$

be in the class $\mathcal{KH}^*(p, q, \lambda, \alpha, \beta)$, then the function $F(z) = \sum_{j=0}^m c_j f_j(z) (c_j \geq 0)$ is also in

$\mathcal{KH}^*(p, q, \lambda, \alpha, \beta)$ where $\sum_{j=1}^m c_j = 1$.

Proof. Since $f_j(z) \in \mathcal{KH}^*(p, q, \lambda, \alpha, \beta)$, by (2.1) we have

$$\sum_{n=p}^{\infty} \frac{n!}{(n-q-1)!} (1+\lambda\beta) t_{n,j} \leq \beta(\lambda+1)Ab(1-\alpha)$$

also

$$\begin{aligned} F(z) &= \sum_{j=1}^m c_j \left(A_j z^{-p} + \sum_{n=p}^{\infty} t_{n,j} z^n \right) \\ &= \sum_{j=0}^m c_j A_j z^{-p} + \sum_{n=p}^{\infty} \left(\sum_{j=0}^m c_j t_{n,j} \right) z^n \\ &= B z^{-p} + \sum_{n=p}^{\infty} s_n z^n \end{aligned}$$

where

$$B = \sum_{j=0}^m c_j A_j, \quad s_n = \sum_{j=0}^m c_j t_{n,j}.$$

But

$$\begin{aligned} & \sum_{n=p}^{\infty} \left[\frac{n!}{(n-q-1)!} (1 + \lambda\beta) \right] s_n \\ &= \sum_{n=p}^{\infty} \left[\frac{n!}{(n-q-1)!} (1 + \lambda\beta) \right] \left[\sum_{j=0}^{\infty} c_j t_{n,j} \right] \\ &= \sum_{j=0}^m c_j \left\{ \sum_{n=p}^{\infty} \left[\frac{n!(1 + \lambda\beta)}{(n-q-1)!} \right] t_{n,j} \right\} \\ &\leq \sum_{j=0}^m c_j (\beta(\lambda + 1)Ab(1 - \alpha)) \\ &= \beta(\lambda + 1)Ab(1 - \alpha). \end{aligned}$$

Now the proof of Theorem 5.1 is complete. ■

Theorem 5.2. Let $f(z), g(z) \in \mathcal{KH}^*(p, q, \lambda, \alpha, \beta)$ and given by

$$\begin{aligned} f(z) &= Az^{-p} + \sum_{n=p}^{\infty} t_n z^n \\ g(z) &= Az^{-p} + \sum_{n=p}^{\infty} s_n z^n. \end{aligned}$$

Then the function $h(z) = Az^{-p} + \sum_{n=p}^{\infty} (t_n^2 + s_n^2)z^n$ is also in $\mathcal{KH}^*(p, q, \lambda, \alpha, \gamma)$ where

$$(5.1) \quad \gamma \geq \frac{2(n-q-1)!\beta^2(\lambda+1)Ab(1-\alpha)}{n!(1+\lambda\beta)^2 - 2\lambda(n-q-1)!\beta^2(\lambda+1)Ab(1-\alpha)}$$

Proof. Since $f, g \in \mathcal{KH}^*(p, q, \lambda, \alpha, \beta)$ therefore we have

$$\begin{aligned} \sum_{n=p}^{\infty} \left[\frac{n!(1 + \lambda\beta)}{(n-q-1)!\beta(\lambda + 1)Ab(1 - \alpha)} \right]^2 t_n^2 &\leq \left[\sum_{n=p}^{\infty} \frac{n!(1 + \lambda\beta)}{(n-q-1)!\beta(\lambda + 1)Ab(1 - \alpha)} t_n \right]^2 < 1, \\ \sum_{n=p}^{\infty} \left[\frac{n!(1 + \lambda\beta)}{(n-q-1)!\beta(\lambda + 1)Ab(1 - \alpha)} \right]^2 s_n^2 &\leq \left[\sum_{n=p}^{\infty} \frac{n!(1 + \lambda\beta)}{(n-q-1)!\beta(\lambda + 1)Ab(1 - \alpha)} s_n \right]^2 < 1. \end{aligned}$$

The above inequalities yield us

$$\sum_{n=p}^{\infty} \frac{1}{2} \left[\frac{n!(1 + \lambda\beta)}{(n-q-1)!\beta(\lambda + 1)Ab(1 - \alpha)} \right]^2 (t_n^2 + s_n^2) < 1.$$

Now we must show

$$\sum_{n=p}^{\infty} \frac{n!(1 + \lambda\gamma)}{(n-q-1)!\gamma(\lambda + 1)Ab(1 - \alpha)} (t_n^2 + s_n^2) < 1.$$

But above inequality holds if

$$\frac{n!(1 + \lambda\gamma)}{(n-q-1)!\gamma(\lambda + 1)Ab(1 - \alpha)} \leq \frac{1}{2} \left[\frac{n!(1 + \lambda\beta)}{(n-q-1)!\beta(\lambda + 1)Ab(1 - \alpha)} \right]^2$$

or equivalently

$$\frac{1 + \lambda\gamma}{\gamma} \leq \frac{n!(1 + \lambda\beta)^2}{2(n - q - 1)!\beta^2(\lambda + 1)Ab(1 - \alpha)}$$

or

$$\gamma \geq \frac{2(n - q - 1)!\beta^2(\lambda + 1)Ab(1 - \alpha)}{n!(1 + \lambda\beta)^2 - 2\lambda(n - q - 1)!\beta^2(\lambda + 1)Ab(1 - \alpha)}$$

and this gives the result. ■

6. HADAMARD PRODUCT

Theorem 6.1. *If*

$$f(z) = Az^{-p} + \sum_{n=p}^{\infty} t_n z^n, \quad g(z) = Bz^{-p} + \sum_{n=p}^{\infty} s_n z^n$$

be in the class $\mathcal{KH}^(p, q, \lambda, \alpha, \beta)$. Then Hadamard product of f and g defined by*

$$(f * g)(z) = h(z) = ABz^{-p} + \sum_{n=p}^{\infty} t_n s_n z^n$$

is in the class $\mathcal{KH}^(p, q, \lambda, \alpha, \gamma)$ where*

$$(6.1) \quad \gamma \geq \frac{(n - q - 1)!(\lambda + 1)Ab(1 - \alpha)\beta^2}{n!(1 + \lambda\beta)^2 - \lambda(n - q - 1)!(\lambda + 1)Ab(1 - \alpha)\beta^2}$$

Proof. Since $f(z), g(z) \in \mathcal{KH}^*(p, q, \lambda, \alpha, \beta)$, so by (2.1) we have

$$(6.2) \quad \sum_{n=p}^{\infty} \frac{n!(1 + \lambda\beta)}{(n - q - 1)!\beta(\lambda + 1)Ab(1 - \alpha)} t_n \leq 1,$$

$$(6.3) \quad \sum_{n=p}^{\infty} \frac{n!(1 + \lambda\beta)}{(n - q - 1)!\beta(\lambda + 1)Ab(1 - \alpha)} s_n \leq 1.$$

We must find the smallest γ such that

$$\sum_{n=p}^{\infty} \frac{n!(1 + \lambda\gamma)}{(n - q - 1)!\gamma(\lambda + 1)Ab(1 - \alpha)} t_n s_n \leq 1$$

by using the Cauchy - Schwarz inequality we have

$$(6.4) \quad \sum_{n=p}^{\infty} \frac{n!(1 + \lambda\beta)}{(n - q - 1)!\beta(\lambda + 1)Ab(1 - \alpha)} \sqrt{t_n s_n} \leq 1.$$

Now it is enough to show that

$$\begin{aligned} & \frac{n!(1 + \lambda\gamma)}{(n - q - 1)!\gamma(\lambda + 1)Ab(1 - \alpha)} t_n s_n \\ & \leq \frac{n!(1 + \lambda\beta)}{(n - q - 1)!\beta(\lambda + 1)Ab(1 - \alpha)} \sqrt{t_n s_n} \end{aligned}$$

or equivalently

$$\sqrt{t_n s_n} \leq \frac{\gamma(1 + \lambda\beta)}{\beta(1 + \lambda\gamma)}.$$

But from (6.4) we have

$$\sqrt{t_n s_n} \leq \frac{(n - q - 1)! \beta (\lambda + 1) A b (1 - \alpha)}{n! (1 + \lambda \beta)}$$

So it is enough that

$$\frac{(n - q - 1)! \beta (\lambda + 1) A b (1 - \alpha)}{n! (1 + \lambda \beta)} \leq \frac{\gamma (1 + \lambda \beta)}{\beta (1 + \lambda \gamma)}$$

or

$$\frac{(n - q - 1)! (\lambda + 1) A b (1 - \alpha)}{n!} \frac{\beta^2}{(1 + \lambda \beta)^2} \leq \frac{\gamma}{1 + \lambda \gamma}$$

or

$$\frac{1}{\gamma} + \lambda \leq \frac{n! (1 + \lambda \beta)^2}{(n - q - 1)! (\lambda + 1) A b (1 - \alpha) \beta^2}$$

or

$$\gamma \geq \frac{(n - q - 1)! (\lambda + 1) A b (1 - \alpha) \beta^2}{n! (1 + \lambda \beta)^2 - \lambda (n - q - 1)! (\lambda + 1) A b (1 - \alpha) \beta^2}.$$

■

7. INTEGRAL OPERATORS ON $\mathcal{KH}^*(p, q, \lambda, \alpha, \beta)$

Theorem 7.1. *If $f(z) \in \mathcal{KH}^*(p, q, \lambda, \alpha, \beta)$ then the function $F_c(z)$ defined by*

$$(7.1) \quad F_c(z) = (c + 1 - p) \int_0^1 v^c f(vz) dv, \quad c \geq 1$$

is also in $\mathcal{KH}^(p, q, \lambda, \alpha, \beta)$.*

Since $f(z) \in \mathcal{KH}^*(p, q, \lambda, \alpha, \beta)$ so

$$f(z) = Az^{-p} + \sum_{n=p}^{\infty} t_n z^n$$

Therefore

$$\begin{aligned} F_c(z) &= (c + 1 - p) \int_0^1 v^c \left[A(vz)^{-p} + \sum_{n=p}^{\infty} t_n (vz)^n \right] dv \\ &= (c + 1 - p) \int_0^1 \left[Av^{c-p} z^{-p} + \sum_{n=p}^{\infty} t_n v^{c+n} z^n \right] dv \\ &= (c + 1 - p) \left[\frac{A}{c - p + 1} v^{c-p+1} z^{-p} + \sum_{n=p}^{\infty} t_n z^n \left(\frac{1}{c + n + 1} v^{c+n+1} \right) \right]_0^1 \\ &= (c + 1 - p) \left(\frac{A}{c - p + 1} z^{-p} + \sum_{n=p}^{\infty} \frac{1}{c + n + 1} t_n z^n \right) \\ &= Az^{-p} + \sum_{n=p}^{\infty} \frac{c + 1 - p}{c + 1 + n} t_n z^n \end{aligned}$$

Since $\frac{c+1-p}{c+1+n} < 1$ we have

$$\begin{aligned} & \sum_{n=p}^{\infty} \frac{n!}{(n-q-1)!} (1+\lambda\beta) \frac{c+1-p}{c+1+n} t_n \\ & < \sum_{n=p}^{\infty} \frac{n!}{(n-q-1)!} (1+\lambda\beta) t_n \quad \text{by (2.1)} < \beta(\lambda+1)Ab(1-\alpha). \end{aligned}$$

Therefore, by using Lemma 2.1

$$F_c(z) \in \mathcal{KH}^*(p, q, \lambda, \alpha, \beta).$$

Remark 7.1. With the same way that used in Theorem 3.1, Corollary 3.2 we can prove $F_c(z)$ is multivalently starlike and multivalently convex of order η ($0 \leq \eta < p$) in

$$|z| < R_1(p, q, \lambda, \alpha, \beta, c, \eta) = \inf_n \left\{ \frac{n!(1+\lambda\beta)(p-\eta)(c+1-n)}{(\lambda+1)b(1-\alpha)(n-q-1)!(n+2p+\eta)(c+1-p)} \right\}^{\frac{1}{n+p}}$$

and

$$|z| < R_2(p, q, \lambda, \alpha, \beta, c, \eta) = \inf_n \left\{ \frac{p(n-1)(1+\lambda\beta)(p-\eta)(c+1-n)}{(\lambda+1)b(1-\alpha)(n-q-1)!(n+2p+\eta)(c+1-p)} \right\}^{\frac{1}{n+p}}$$

respectively.

REFERENCES

- [1] H. IRMAK and S. OWA, Certain inequalities for multivalent starlike and meromorphically multivalent starlike functions, *Bulletin of the Institute of Mathematics, Academia Sinica.*, Vol. 31, No. 1, (2001), 11–21.
- [2] SH. NAJAFZADEH, A. TEHRANCHI and S. R. KULKARNI, Application of differential operator on p -valent meromorphic functions, (*accepted for publication in Anal. Univ. Oradea. Fasc. Math.*).
- [3] S. SHAMS and S. R. KULKARNI, On application of Ruscheweyh derivative for p -valent meromorphic functions with missing coefficients, *Acta Ciencia Indica.*, Vol. XXIXM, No. 3, (2003), 497–506.